Converting Between kg and g (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : — : > X
G M k h dai :d ¢ m M n
987654325-?-51-2345—6789
Convert 2.993kgto g
Convert 6 400 000 g to kg
Convert 81 400 g to kg
Convert 42 900 g to kg
Convert 0.00796 kg to g
Convert 0.0157kgto g
Convert 0.09677kgto g
Convert 1800 g to kg

Convert 0.574kgto g

Convert 326 700 000 g to kg
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Converting Between kg and g (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

T giga
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+ milli

1 nano
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w = 1 kilo
» = T hecto
& = T micro
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Convert 2.993kgto g

2.993kgx 10X 10X 10 = 2993 ¢
Convert 6 400 000 g to kg

6400 000g +~ 10 + 10 + 10 = 6400 kg
Convert 81 400 g to kg

81400g <+ 10 + 10 + 10 = 81.4kg
Convert 42 900 g to kg

42900g + 10 + 10 + 10 = 42.9kg
Convert 0.00796 kg to g

0.00796 kg X 10 X 10 X 10 = 7.96 g
Convert 0.0157kgto g
0.0157kgx10x 10X 10 =15.7¢g
Convert 0.09677kgto g
0.09677kg X 10 X 10 X 10 = 96.77 g
Convert 1800 g to kg

1800g +~ 10 + 10 + 10 = 1.8kg
Convert 0.574kgto g

0.574kg X 10 X 10 X 10 = 574 ¢g
Convert 326 700 000 g to kg

326 700 000 g +~ 10 =~ 10 + 10 = 326 700 kg
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